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C.U. SHAH UNIVERSITY

Summer Examination-2017

Instructions:

(1)
(2)
(3)
(4)
()

Use of Programmable calculator & any other electronic instrument is prohibited.
Instructions written on main answer book are strictly to be obeyed.
Draw neat diagrams and figures (if necessary) at right places.

Assume suitable data if needed.

Every sketch contains two marks.

Q-1

Attempt the following questions: (14)
If the volume of voids is equal to the volume of solids in a soil mass, then the (1)
values of porosity and voids ratio respectively are
a) 1.0and 0.0 b) 0.0 and 1.0 c)0.5and 1.0 d)1.0and 0.5
The specific gravity of sands, is approximately Q)
a) 2.0 b) 2.2 c)24 d) 2.6
Maximum size of clay particles, is: Q)
a) 0.020 mm b) 0.002 mm c) 0.200 mm d) 2.000 mm
The soil which contains finest grain particles, is Q)
a) clay b) coarse sand  c¢) fine sand d) silt
Which is transported by gravitational forces? Q)
a) loess b) talus c) drift d) dune sand
Valid range for n, the percentage voids, is Q)
a) 0<n< 100 b) 0<n<100 c) n>0 d) n<0
Specific weight = 1)
(@ W/m b)W/V c) m/W d)V/W
If a soil is fully saturated having void ratio 0.67 what will be the porosity? Q)
a) 40% b) 42% C) 44% d) 46%
If the degree of saturation of a partially saturated soil is 20%, then air content of Q)
the soil is
a) 40% b) 60% c) 80% d) 100%
The dense sands have bearing capacity D
a) greater b) lesser c) equal d) can’t say
Effective size of soil is D
a) D1g b) D2o c) D3o d) Dao
Toughness index = D
a) Ir= Iglp b) Ti= Iglp C) Ti= g IE d) lr= lp IE
Porosity (n)= D
a) e/(1-e) b) (1+e)le c) (1-e)le d) e/(1+e)
Air content a. - D
a) Va/Vv b) Vv/Va c) Va/Vv (d) VvV
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Attempt any four questions from Q-2 to Q-8

Q-2

Q-4

Q-5

Q-7

Q-8

Q-1

Attempt all questions (14)
a)  Asoil sample has porosity 40% and specific gravity of solid 2.6. Find @)
(1) Void Ratio (3) Saturated density (2) Dry density (4) Submerged density
b)  Explain formation of soil in geological cycle and write use of Soil in Civil (7)
engineering with sketch.
Attempt all questions (14)
a) Derive the following relationships with sketch. (7)
1.v4=7vp /14w 2.e=wG/Sr
b)  List the methods of finding specific gravity of soil and explain any one of them (7)
with sketch.
Attempt all questions (14)
a)  Write assumptions and draw three phase diagram of soil. @)
b)  Explain ‘grading curve’ with sketch. (7)
Attempt all questions (14)
a) Explain grain size distribution of soil with sketch. @)
b)  Explain Mohr circle method for shear strength of soil with sketch. @)
Attempt all questions (14)
a) Define the following terms: (7)
1.Liquid limit 5. Liquidity index.
2.Plastic limit 6. Shrinkage ratio
3.Shrinkage limit 7. Shrinkage index
4.Plasticity index 8. Consistency index
A clayey soil sample has water content 45%, liquid limit 52% and plastic limit @)
27%. Calculate plasticity index, liquidity index and consistency index.
Attempt all questions (14)
State and explain Darcy’s law with assumptions and with sketch. @)
Explain ‘variable head permeability test’ of soil in laboratory with sketch. (7)
Attempt all questions (14)
What is consolidation? Write the difference between compaction and (7)
consolidation.
Describe the standard penetration test with sketch. How the observed N- value is @)
correct?
Attempt the following questions: (14)
3) o B s€ WA Als 5€ UHlet 2 AR ALs 22 U el el (1)
AdLA?
a)1.0and 0.0 b) 0.0 and 1.0 c)0.5and 1.0 d)1.0and 0.5
b) Yl ol ABRs AANE 2iElB (1)
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a) 2.0 b) 2.2

c) 2.4 d) 2.6
) sA 18l ol Mlel Hi S W : 1)
a) 0.020 mm b) 0.002 mm ¢) 0.200 mm d) 2.000 mm
d)  iel Al ol e Aol ; (1)
a) clay b) coarse sand  c¢) fine sand d) silt
€)  oppccusyeiell clget uHdl 1l : (1)
a) loess b) talus c) drift d) dune sand
) Bl est A U3, @)
a) 0<n< 100 b) 0<n<100 c) n>0 d) n<0
9 ARGs Az(Specific weight) = 1)
(@) W/m b) WV ¢) m/W d) V/W
h)  diyelelell Hdl 1 Qs 220 0.50 D A Ylalgdl? (1)
a) 40% b) 42% c) 44% d) 46%
D adyelelloll 18l 1 Aolncl Y 20% & dl salt yHLRL? (1)
a) 40% b) 60% c) 80% d) 100%
D ssatddl ol tureL vl daL. @)
a) greater b) lesser ¢) equal d) can’t say
K) 18l of R85 HIU (1)
a) D1g b) D2o c) D3o d) Dao
) aacl 83 5(Toughness index) = (1)
a) lr= I lIp b) Tiz Ig/Ip OTi=lple  d)lr= Ip I
M) laddi(Porosity (n))= 1)
a) e/(1-e) b) (1+e)/e c) (1-e)le d) e/(1+e)
N) sl YHLRL (Air content a) - (1)
a) Va/Vv b) Vv/Va c) Va/Vv (d) ViV
Attempt any four questions from Q-2 to Q-8
Q-2 UL AU ol Fellol U (14)
) W&l ell A5 otyell oll Slatdcll ¥0% wA WRAGs YA 2.5 B. A (7)
(1) Qs A (3) AY2s 3a(lEl (2) 5185 3oR{l2] (4) Aetms SlEL
b) MW AWsA Us Hi 1S oll Blellrcll AHAA AUA GUNIN AL, ()
Q-3 ULy AU oll Fclled W (14)
3 sl A drrAl @)
lo'Yd:'Yb/l‘l'W 2.e=wWG/Sr
b) QRGBS QA Auciell A Al AUA A As sl WA AHAA. ()
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Q-4

Q-5

Q-6

Q-7

Q-8

b)

Ll Al oll cllol AUl
HLIEL ol 9l 38U stALDUH E1RL A URRIRA AL

Aol scl ol vus Al WA UM

oLl LA ol Sclled )
U of seuu (Aot gl A& AUl

UL of A1AR ol IR R USE ol It Amstall.

LYl A LE oll cllol UL
clluAl 3

PAlsclls Aldle ¥Rl AE sedsu 9) Alotdy Sods

s llle W) dlscllsldl 2l ¢) slluearll 8ad5u

3)AMlotdy Allle <) flotdoy {2

5Q oll As W oll oyl of well 1o ¥u%n dlscdls dllle uR% wa
wtlfes cdlHle 20% 8. WREIRE] 835, AlscllS1Z] Bodst ua s U2l
Sod s 2L,

oLt AU oll cllel B
SRYL ol Rtlic ol tReul Aat sl A AHSAL

Y0021 HE HIEL HIR Ul ARRAGE 35 URIAUAL 22 UMl

LUl AU oll Lol WL
Slollcll3 ot M@ 9? Atdotcll A SloA3 Ut A dAslald AW,

RlogS UaeRUot 222 ol Gl A AHAAL N ofl SlHct A YulRal g stR2ll.
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